Tableaux des Puissances de Dix (E)

Multipliez le nombre de la rangée par celui de la colonne.

300 0,0003 30 0,003

94

98

95

53

0,4 0,04 0,004 40 000

13

82

78

81

27

80 0,08 0,0008 8 000

89

20

37

36

0,7 700 0,007 0,0007

30

56

21

31

69
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Tableaux des Puissances de Dix (E) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 300 0,0003 30 0,003
94 28 200 0,0282 2820 0,282
98 29 400 0,0294 2940 0,294
2 600 0,0006 60 0,006
95 28 500 0,0285 2 850 0,285
53 15900 0,0159 1590 0,159
X 0,4 0,04 0,004 40 000
13 5,2 0,52 0,052 520000
82 32,8 3,28 0,328 3280000
78 31,2 3,12 0,312 3120000
81 32,4 3,24 0,324 3240000
27 10,8 1,08 0,108 1 080 000
X 80 0,08 0,0008 8 000
89 7120 7,12 0,0712 712 000
20 1600 1,6 0,016 160 000
5 400 0,4 0,004 40 000
37 2960 2,96 0,0296 296 000
36 2 880 2,88 0,0288 288 000
X 0,7 700 0,007 0,0007
30 21 21000 0,21 0,021
56 39,2 39 200 0,392 0,0392
21 14,7 14700 0,147 0,0147
31 21,7 21700 0,217 0,0217
69 48,3 48 300 0,483 0,0483
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